ERGOCUT

Central

AUTOCUT

A 141P

Central

PA1500 &m M14x1 PA0103 &m M14x1

PA1501 12m M14x1 1 PAQ104 12m M14x1 1

PA1502 6m 14 G 1 PAQ145 6m Central Adaptor 1

PA1504 6m Central Adaptor 1 PAQ146 12m Central Adaptor 1

PA1505 12m Central Adaptor 1

] B S u S
BWO0311 cable support PC0131 contact nozzle Long Life
BWO0340 trigger 1 PD0O101-11 @1.1tip 10
BWO0345 red Plasma handle 1 PD0O101-14 @ 1.4 tip 10
BX0125 pilot arc cable 2.5 mm2 (m) PD0101-17 1.7 tip 10
BX0138 cable 2x0.50 @5.2 (m) PD0101-19 @1.9tip 10
CVooos stand off long guide 10 PD0101-30 @ 3.0 tip 10
CVo009 stand off long guide 10 PDO111-12 @ 1.2 long tip 10
CVoo11 stand off guide 10 PD0O117-14 @ 1.4 long tip 10
CVvooi2 stand off guide 2 PD0O117-17 @ 1.7 long tip 10
CVoo13 gouging shield 2 PD0117-19 @ 1.9 long tip 10
CVoo14 stand off guide 2 PEO101 diffuser 2
CVooz21 carriage 1 PE0103 diffuser 2
CVoo22 circle attachment 1 PF0102 torch head 1
CVvoo23 stand off guide 2 PF0155 torch head 1
CVo039 stand off guide 2 PHO101 power cable 6m 1
CVoos9 flowmeter A141 1 PHO103 power cable 12m M14x1 1
CY0035 cable support 10 PHO107 power cable 6m 1/4G 1
CY0036 ring cable support 10 PHO110 power cable 12m 1/4G 1
EA0053 screw M4dx4 50 PHo148 6m - M14x1 1
EA0131 o ring @ 19x2 Viton 10 PHO149 6m - 1/4G 1
EA0236 screw @ 3x12 10 PHO150 12m - M14x1 1
EA0313 spring 10 PHO151 12m - 1/4G 1
EA0390 o ring @ 22x2 Viton 10 PRO101 electrode Hf 10
FH0297 insulator x CV0099 10 PRO116 long electrode Hf 10
FHO0563 air tube 1 PT0201 Ergocut spring pins kit 1
FY0023 Plasma conn. (m) 5pin 1 QBO164 EPDM ©@22.5x25.5 (m)
PC0101 nozzle 2 TP0061 black handle metallic 1
PCo0102 nozzle Long Life 2 TPO110 complete handle 1
PCo0103 contact nozzle 2
XOO0-XX STANDARD CONSUMABLES IN RED

[ ] COMPLETE TORCHES [ ] CONSUMABLES [ ] CONNECTORS [ | SPAREPARTS

587‘/07?/770,7‘

your welding partner



TPnpm
| s
Y% I

CONSUMABLES

BX0138

BX0125 !
QB0164—+

—EA0131 0R PHo148 ___:
PHO150 |

PF0155—

e FHO563—1
PRO116— TSk »
{} PRo101 M14X1 |
& PE0101 /|

? 3PDu1u1 A7

Beotos .
Pcma\. —PCo102
FHo2g7 PCO101

= CVooia
C"mlog |cv0039 r’ '2_: ﬁ !

CVoo11 -
CVooos CVo023 cvVooi2 | fi
CVooi4

Vo021 114G

PHo101
PHO103

PE0103—am _ppotii-12

PDO117..”

| PHoto7
PHO110

CVoo22

FYoo23
Central Adaptor

ERGOCUT
A 141

L TRIGGER

anrm CURRENT
CABLE

g,

=] \ ARC

Central Adaptor

1.1 Kg

KA f 6-12m f l”"

40
I’!
- L7 3
500 5 bar 210I.~'min
X X

| _PHo148
PHo150
EAoag0or < — TPoOG1

PFO102 —

EA0053
EA0131 OR —

M 14X1 Pno1o1—‘\

PEO101—

' PDO101- 17 PCoto2

N " pcoto1— ‘
KG On Request

PHOT4E S )
PHO151 S

FYoo023
Central Adaptor

AUTOCUT
A 141P

@ @
W 4 2
@ £ @
&l ) ®
60 mm, ' 300 mm |
I I I
‘ 418 mm |
I I
“ 11 Kg
———
a2y 6-12m |

.-. r3
p‘}gk 500 5 bar 210 I/min
X X
R 1408 100A E 35:40 mm

Jrofmer

your welding partner

Jl

PLASMA
CUTTING

PLASMA
CUTTING

)




